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BEAR A TLRYT AT X kK ok
®wE * % * k k%
Rk * ok x K * %

[ENs K G2 LR &R | #5Re [ M| GROSS | HDCP NET NE L K G2 EEBY | #5RE [ x| GROSS | HDCP NET NE L K LEBY | #5EE [ M| GROSS | HDCP NET
1| X8a BE 45 | 42 87 30.0 57.0 51 |:Z=M FERE 43 49 92 23.0 69.0 101 (BNl % 92 | 51 103 31.0 12.0
2 |f&aAk #7 45 48 93 36.0 57.0 52 [YEiI FEX 48 47 95 26.0 69.0 102 (frE  #8— 92 | 93 105 33.0 12.0
3 |F AR 46 | 45 91 31.0 60.0 53 |5 Th 38 | 36 14 4.0 70.0 103 |BE BLER 38 | 41 19 6.0 13.0
4 |H2E Fif 38 | 41 19 18.0 61.0 54 ;&M 7] 38 | 40 18 8.0 70.0 104 ;A% B2 41 40 81 8.0 13.0
5 [aF MK 40 | 39 19 18.0 61.0 5 |RiE EHH 42 | 317 19 9.0 70.0 105 |[BHK &= 44 1 39 83 10.0 13.0
6 |=MH =& 43 37 80 19.0 61.0 56 |&LL EiRE 40 40 80 10.0 70.0 106 | K+t & 41 43 84 11.0 13.0
1 R+t &ER 46 | 41 87 26.0 61.0 57 |S# W= 41 40 81 11.0 10.0 107 |2 F EXE 45 39 84 11.0 13.0
8 |BiE —BB 48 | 48 96 35.0 61.0 58 [fEL % 38 | 43 81 11.0 70.0 108 (#tE £ 43 | 41 84 11.0 13.0
9 [XEF F* 45 44 89 21.0 62.0 59 |RIE BT 40 43 83 13.0 70.0 109 (ALl Efd 45 40 85 12.0 13.0

10 [P+ (& 42 | 38 80 17.0 63.0 60 |HPIE B4R 41 42 83 13.0 70.0 110 Pk =E#0 41 44 85 12.0 13.0
11 [+ FIfE 41 40 81 18.0 63.0 61 |HiR FiF 45 | 39 84 14.0 70.0 M |#K HF 40 45 85 12.0 13.0
12 | EBH & 44 [ 39 83 20.0 63.0 62 |#& H—ER 43 | 41 84 14.0 70.0 12 (i IEF 45 | 45 90 17.0 13.0
13 |/\B #/& 43 40 83 20.0 63.0 63 [KEE FRfE 43 | 41 84 14.0 70.0 13 |Efs 15— 47 | 46 93 20.0 13.0
14 |HF 2 42 40 82 18.0 64.0 64 et F0=E 41 43 84 14.0 70.0 114 |78 =5h 47 | 47 94 21.0 13.0
15 |8 EFHF 37 40 11 12.0 65.0 65 |14 =EF] 44 | 43 87 17.0 70.0 115 [dedt =7 99 | 54 113 40.0 13.0
16 [REAT #—ER 39 39 18 13.0 65.0 66 |REF = 43 46 89 19.0 70.0 116 |50 EBEJAR 48 | 48 96 22.8 13.2
17 [#@B EBZ 45 | 35 80 15.0 65.0 67 |#HE RZ 48 45 93 23.0 70.0 17 |KE % 37 | 44 81 1.0 14.0
18 ALl 14 41 40 81 16.0 65.0 68 [#T)1 K&k 51 42 93 23.0 70.0 118 |FE+ % 44 1 39 83 9.0 74.0
19 |72 & 39 43 82 17.0 65.0 69 |BHiH F 47 | 48 95 25.0 70.0 19 | KE R 42 | 43 85 11.0 14.0
20 |fEF BEER 43 | 42 85 20.0 65.0 10 |\ T =EF] 53 42 95 25.0 70.0 120 JIlde =iE 43 43 86 12.0 74.0
21 | & SR 44 41 85 20.0 65.0 N |BAHE IE# 46 93 99 29.0 70.0 121 (&I B— 45 | 42 87 13.0 14.0
22 |K =mE 47 41 88 23.0 65.0 12 & Ei 38 | 39 11 6.0 71.0 122 |[tH =5 46 42 88 14.0 74.0
23 | KiE [RH 45 90 95 30.0 65.0 3 (@B F— 40 | 38 18 1.0 11.0 123 |BK ZE 43 48 91 17.0 14.0
24 |HH  FIF 41 37 18 12.0 66.0 74 |RHE &8 38 | 41 19 8.0 71.0 124 (##@ = 50 | 42 92 18.0 74.0
25 | K#¥ IERE 43 | 34 11 10.0 67.0 75 |IRA HAH 44 | 39 83 12.0 11.0 125 |FEA =2 950 | 44 94 20.0 14.0
26 |HFF EZ 39 | 40 79 12.0 67.0 76 |JIlg EE& 44 40 84 13.0 71.0 126 |8 &IT 50 | 44 94 20.0 74.0
271 I FF 39 44 83 16.0 67.0 17 |FI#E #ok 41 44 85 14.0 11.0 127 (Al & 902 | 44 96 22.0 14.0
28 |FEiE nERE 43 | 46 89 22.0 67.0 18 |\Treh EEE 41 44 85 14.0 1.0 128 |T#F #nsE 52 46 98 24.0 74.0
29 |JIIFRER M= 47 44 91 24.0 67.0 79 |HE —HR 43 43 86 15.0 1.0 129 (Hgith & 56 54 110 36.0 14.0
30 |*FH X 44 48 92 25.0 67.0 80 |8 AETF 44 | 42 86 15.0 11.0 130 |#fH H 48 | 43 91 16.8 14.2
3 |FE EX 47 | 46 93 26.0 67.0 81 |2 &5 44 | 44 88 17.0 11.0 131 |4l mE—ER 59 | 50 109 34.8 14.2
32 |8 TR 37 39 16 8.0 68.0 82 |ILE FEM 45 | 44 89 18.0 1.0 132 |AF = 47 43 90 15.6 14.4
33 |& HZ 41 35 16 8.0 68.0 83 |aA EH— 44 | 47 91 20.0 11.0 133 |80 N\EF 47 | 47 94 19.2 14.8
34 | KB R# 37| 40 11 9.0 68.0 84 |BEM FE 43 | 54 97 26.0 1.0 134 [BEX R= 42 | 4 83 8.0 75.0
35 |IUF ERK 40 | 38 18 10.0 68.0 85 [ZEH & 48 49 97 26.0 11.0 135 [AE {28 42 | 42 84 9.0 15.0
36 |hE == 40 | 40 80 12.0 68.0 86 (At FBHRF 51 46 97 26.0 1.0 136 [#EE IEX 45 42 87 12.0 75.0
37 (@Il &EEX 40 | 42 82 14.0 68.0 87 Bk 2 40 | 41 81 9.0 12.0 137 |lWE HE 47 | 41 88 13.0 15.0
38 |+t FETAR 43 | 43 86 18.0 68.0 88 |IE =C 40 | 41 81 9.0 12.0 138 |’k& Mt 42 46 88 13.0 75.0
39 (AEB & 45 43 88 20.0 68.0 89 |=)l ARz 41 42 83 11.0 12.0 139 |2/E IEH# 45 44 89 14.0 15.0
40 |5F 85X 42 | 52 94 26.0 68.0 90 |sAmE IERE 42 | 42 84 12.0 12.0 140 [/h5  1£BA 44 | 45 89 14.0 15.0
M |HO FA 39 40 19 10.0 69.0 91 [FER HEEI 41 45 86 14.0 12.0 141 ()Jllm|m & 48 | 43 91 16.0 75.0
42 |EIR  E#—EB 40 | 41 81 12.0 69.0 92 12§ IEH 46 40 86 14.0 12.0 142 |fE#M ZE 46 45 91 16.0 15.0
43 | KIE B 42 |1 39 81 12.0 69.0 93 |BER = 41 46 87 15.0 12.0 143 [ILE BE5h 48 | 44 92 17.0 75.0
44 (&N FiE 41 41 82 13.0 69.0 94 |Aa[R sid 49 | 41 90 18.0 12.0 144 fER”RK EX 49 | 44 93 18.0 15.0
45 |5\ E— 42 40 82 13.0 69.0 95 |FIE #X 46 | 46 92 20.0 12.0 145 |R[R #ER 47 46 93 18.0 75.0
46 (k& EZ 44 | 40 84 15.0 69.0 96 |ZEHE E— 51 42 93 21.0 12.0 146 BT PE— 46 | 48 94 19.0 15.0
4] |EE ER 42 | 42 84 15.0 69.0 97 |18k 1&#N 51 46 97 25.0 12.0 147 |B# ZE 47 | 47 94 19.0 75.0
48 [AH =8 44 42 86 17.0 69.0 98 |FtH =R 48 o1 99 21.0 12.0 148 |4t)Il #Z 50 49 99 24.0 15.0
49 | B8 PERE 42 46 88 19.0 69.0 99 |HHE K#t 47 93 100 28.0 12.0 149 |lUA %F 54 51 105 30.0 75.0
50 [1I2 &EEX 46 44 90 21.0 69.0 100 AR K % 90 [ 52 102 30.0 12.0 150 [#Ma HEF 98 | 57 115 40.0 15.0
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BEAR A TLRYT AT X kK ok
R * % * k k%
Rk * ok x K * %

[ENs K G2 LR &R | #5Re [ M| GROSS | HDCP NET NE L K G2 EbBY | #5RE [ | GROSS | HDCP NET NE L K g2 LEBY | #5EE [ M| GROSS | HDCP NET
151 (I =i 92 | 43 95 19.2 15.8 201 |mgE EH 57 | 50 107 29.0 18.0 251 |87 FH=E 48 98 106 23.0 83.0
152 |HKE i 43 | 40 83 1.0 76.0 202 |FEiE  #AE] o1 47 98 19.2 78.8 252 |HIR Zif 55 | 52 107 24.0 83.0
153 (&Nl HF 41 43 84 8.0 16.0 203 [/ FEIA 47 | 42 89 10.0 19.0 253 /NIl #05 52 97 109 26.0 83.0
154 |#&E XX 45 40 85 9.0 16.0 204 =l BFE 47 43 90 11.0 719.0 254 |[RiE EE 55 | 56 1 28.0 83.0
155 | KR+t IEA 41 44 85 9.0 16.0 205 [T BBE 47 | 44 91 12.0 19.0 255 (L FE2Z 93 | 46 99 15.6 83.4
156 |BEAR #E5 44 42 86 10.0 16.0 206 |EEA X 49 45 94 15.0 719.0 256 |lUAR FEZ 49 45 94 10.0 84.0
157 |Bim & 44 |1 42 86 10.0 16.0 207 | KT f#2z o0 | 44 94 15.0 19.0 257 |B& & ol | 39 96 12.0 84.0
158 |HB)II #H= 44 43 87 11.0 16.0 208 (H¥F & 49 | 46 95 16.0 719.0 258 (B3 == 50 | 46 96 12.0 84.0
159 |&% =i 47 | 41 88 12.0 16.0 209 |B&EHF XK 50 45 95 16.0 19.0 259 (4Ll 93 | 50 103 19.0 84.0
160 [FH % 45 | 43 88 12.0 16.0 210 |¥\E IEFFE 51 48 99 20.0 79.0 260 [S48  HI5E 52 | 52 104 20.0 84.0
161 [#L 7% 46 44 90 14.0 16.0 211 |Bh HE 52 50 102 23.0 19.0 261 |;AK =EE 950 | 63 113 29.0 84.0
162 (BRI #F 51 43 94 18.0 16.0 212 |[BBK i 50 [ 53 103 24.0 719.0 262 [tE =&} 46 | 49 95 10.0 85.0
163 |E+ A 49 47 96 20.0 16.0 213 |BH #BF 93 | 50 103 24.0 19.0 263 |dbIE IEES 56 95 m 26.0 85.0
164 [E&N %17 51 47 98 22.0 16.0 214 (2% 7B 50 | 55 105 26.0 719.0 264 |EEFT HE 64 53 117 32.0 85.0
165 |f&iF (&8I o1 47 98 22.0 16.0 215 |H4R BhE 58 o1 109 30.0 19.0 265 |BXR & o1 47 98 12.0 86.0
166 [+ 12K 41 39 80 3.6 16. 4 216 |l|R ®=F 56 | 59 115 36.0 79.0 266 |F94z #t 98 | 43 101 15.0 86.0
167 |[KHE &8 o0 | 46 96 19.2 16.8 217 |[F# H-— 45 | 44 89 9.6 19.4 267 (FAiE R 51 o1 102 16.0 86.0
168 |dtJIl =T 53 | 55 108 31.2 16.8 218 Bt R=E 45 [ 45 90 10.0 80.0 268 (HLE BF o7 | 49 106 20.0 86.0
169 |EH EBx 44 | 42 86 9.0 11.0 219 (WA ZHfE 48 44 92 12.0 80.0 269 |EEN i 51 90 101 14.0 87.0
170 (= BC 46 | 40 86 9.0 11.0 220 i BZ= 43 | 51 94 14.0 80.0 270 |P9E ISR 53 49 102 15.0 87.0
1M |[&x #HE 46 42 88 11.0 11.0 221 |5 FA 92 | 44 96 16.0 80.0 271 |<H B 48 | 54 102 15.0 87.0
172 |5 171 43 46 89 12.0 11.0 222 |[E&ER AR 52 | 45 97 17.0 80.0 272 |BW —% 44 | 56 100 12.0 88.0
1713 |Ihg —F 48 43 91 14.0 11.0 223 |fke 3FME 48 | 51 99 19.0 80.0 273 |fEx B 61 50 m 20.0 91.0
174 (1N HE 46 48 94 17.0 11.0 224 | H = 49 | 53 102 22.0 80.0 274 (12 Fie 66 51 117 26.0 91.0
175 B & 48 47 95 18.0 11.0 225 |HH B 49 | 53 102 22.0 80.0 275 |[FRR  1EBA 99 | 93 108 16.0 92.0
176 b+ Z=# 46 [ 50 96 19.0 11.0 226 |REE HRK 50 | 55 105 25.0 80.0 276 | KAk = 57 | 56 113 20.0 93.0
177 (=i ffiF 51 46 97 20.0 11.0 227 |)kR  BAME 92 | 54 106 26.0 80.0 271 |B® EF 62 | 56 118 25.0 93.0
178 |#2% #A 51 48 99 22.0 11.0 228 |F1lu =8 % | 62 116 36.0 80.0 278 &R mE 60 | 63 123 29.0 94.0
179 |iFK @& o4 | 47 101 24.0 11.0 229 |EE ®EX %4 | 62 116 36.0 80.0 279 |RIR 1E# 81 89 170 36.0 [ 134.0
180 |F%f  F= 53 | 48 101 24.0 11.0 230 [£F BS 63 | 57 120 | 40.0 80.0
181 |IE4T = 49 53 102 25.0 11.0 21 | &% = 54 95 109 28.8 80. 2
182 |#L HEH 53 | 52 105 28.0 11.0 232 |FEH H2 60 | 54 114 33.6 80. 4
183 |F#t FF 49 | 50 99 21.6 11. 4 233 |#EA W% 39 | 51 90 9.0 81.0
184 [FFH =& 52 | 40 92 14.4 11.6 234 4@t FIFD 41 52 93 12.0 81.0
185 [%H# = 47 | 44 91 13.2 11.8 235 |58 117X 49 46 95 14.0 81.0
186 |ZEXR HBUE 46 | 41 817 9.0 18.0 236 |HE & 52 | 45 97 16.0 81.0
187 |2+ RIE 42 | 47 89 11.0 18.0 237 |[& EE= 51 49 100 19.0 81.0
188 |&H #Hth 45 | 44 89 11.0 18.0 238 | KF Jt& 52 | 51 103 22.0 81.0
189 |ipE 3FE 43 | 47 90 12.0 18.0 239 |k B= 90 | 42 92 10.0 82.0
190 |shJI IE 45 | 45 90 12.0 18.0 240 (KB RZ 90 [ 43 93 11.0 82.0
191 |FEiR E# 41 50 91 13.0 18.0 241 k& phY 92 | 44 96 14.0 82.0
192 |#AK RX 44 | 48 92 14.0 18.0 242 |lu &£ o0 | 48 98 16.0 82.0
193 |9 & 51 43 94 16.0 18.0 243 |f0B —i& 48 | 50 98 16.0 82.0
194 |f81lL  EF 46 49 95 17.0 18.0 244 |tkEE B 90 | 51 101 19.0 82.0
195 | KR HFE 46 90 96 18.0 18.0 245 ()1l = 93 | 53 106 24.0 82.0
196 |B;ZE EF 49 49 98 20.0 18.0 246 (KT % 94 | 52 106 24.0 82.0
197 |[&R5F = 49 | 52 101 23.0 18.0 247 |BER SF 42 | 52 94 11.0 83.0
198 (B%EH & o4 | 47 101 23.0 18.0 248 [/hgx —iA 47 o1 98 15.0 83.0
199 |FiE AH 51 50 101 23.0 18.0 249 R AR 47 | 55 102 19.0 83.0
200 | K4 48 | 53 101 23.0 18.0 250 |Ba% BESB 93 | 51 104 21.0 83.0
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